EARAROBEEIERT — 2 N— IBISH —F

2015812850 (£) 8EKR4H

m/\"\y E—%&FLE5EC1NE 52— B I
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . ERRE :30. -9-8- . — NAERE  (KIR)
i o | PNV FF—4 L] S 1(3_0)1 9-9-8-8 | 39.2 2 (4_078) IE\III#MT
Z:arFaq4y b BOXRENLECDT EvilLy RT7—L
N L ZAHR :30. =555 . — BEHZ KR
2 RUEL PN #H 5 A 1(730t; 4-5-5-5 | 39.8 5 (4+616) it
R:84LIST Ry X B:Ly K4F BRIl _ LK
S7I 4 5 | WEB— 1:30.2 1-2-1-1 | 40.4| — 3 434 | 1EBE#RE] (KR)
3l7lg|7773—-3 54.0 (1/2) 0 |EEFE
L:Z2Y) 2 THF— BUSEVILT 1 BRHSE
N HER : -9-6- — AR (GKiR)
4l5l5|PVT xR i 4 ks 173(1):)3 9-9-6-6 | 39.7 6 (4+810) Bl 2
R:7V%tx B:HVITLT1 HE77— L4
. t> 5 | B 1:30.3 1-1-1-2 | 40.6| — 4 470 | RINRE (KR)
sy 6| FHYIF— 77| 560 (76 s | (B JP N
RHIITLIFL N BiF—UyTF vy b YA TS
N KIFIE :30. —4-4- . = HEE= (BE)
6l1]1|KyaA—LA K~ TR e AR ’ ?Z:) I
L:O—YXM2 44 Bkya—Ta—F+v ®11405
R N AAIBE : —6-7- — FEER (KR)
7177 74— 5 an (11.310/.45> 7-6-7-7 |39.9 10 ‘23)3 ERE 7
L:Er/s07Ooq BVITNIA—2 R KR—
= Sy A 4 5 | BEEME— 1:30.6 1-3-3-3 | 40.6| — 1 430 |/NEEERAE (BEFRE)
8l8l10| 77 //7 £4.0 (1/2) 0 |EER
RV TGATIA4L R B hEIV—FHLy b HHE Btk
= o4 | BEEAE 1:30.9 7-6-10-9 | 40.0| — 7 435 | WEIUER (E&FE)
EE 3le¥y=—2* 5.0 (11/2) +3) nEEE
L:xrAqO— B:bedyava HIMREy b
.28 o= Bl BB AR :31. -8-8- . — FHET (KR)
wolslo| EL>FrET 1 4 8 5%_0 1(341)5 6-8-8-10 | 40.6 9 (5+128) E*ﬁ_ﬁ;
LNFT— B:TUHTAT RS
® 1—F—@EBIERL
1T=7r= (6,8,10),(1,4),9,(3,7),(2,5)
2a=5F= 6,8,10,1,4,(3,7),9, (2,5)
J=7"= (6,8),10,1,4,5,7,(2,9),3
40—F— 8,6,10,1,4,5,7,2,3,9
[ /N
B 2 430M 714K 2-4 710 e E 2-4 1,770M JEE 2-4-8 2,370
B B 2 140M 2-8 420M B = 2-4 1,580 JEE 2-4-8 18,180M
4 250M 4-8 500M B H 2-4 3,150M
8 1909

ABICOVWTRDTEEERROODE. TR LIV,




